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é All questlons have to be attempted ‘ Use of Log table is

\ permitted. .

1 Attempt any four of the fol;lowmg 1d g
' 1Defin€ inertial frame of’ referenee and state the
fundamental postulates of special theory of relativity.

(b) What are coherent sourses of light? ls it:possible/

to obtam coherent sources from two §eparate~_§_

{ sources’7 If not, why? T di Wk
Explam the. phenomenon of double refractlon in

i a’célcite Crystal jieeatqgws ofl) ovrial . (d)
(i i'Wt"ited@’v'\tn “e]l's eqUatton and deﬁneSymbols
 Useth bt gvitoRil: !

(e ) Deﬁnepermeabnllty and magnetmfs,uﬁcepttblhty

rt1c8how that: ipes L (Hexm) yiiosly o
,/(97 Explam Meissner effect in super conductcrs

208 Attempt any four of the: follwwmi, G 6w i 3grneité

(/a) Dtse:us the dtstrtbptmn of energy in the: spgc;trum
“1 bla,ck boﬂy ramg,’iot_twgw ook e
® " An X-ray photon is found to \hétve its wavelength

doubled on being scattered through 90°. Find the

wave length of the incident photon.
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Twin coherent sowrces of moncchromatie light of
wave lengih G000 A produce an imterference
PETET &0 A Sohedm _.c_..._“__” at a distaree of 1 metre
fioem thern. The distance between fwo conseastive
bright fringes on the screen is 005 mm, Find the
distance between the two coherent sounces.

A 20 cm long tube contaming 48 cm® of sugar
solution rotates the plase of polarization by |19
If the specifuc rodation is 66, calculate the mass
of susar in the solimion.

A plane irenssission grating has 1500 hhes per
mch. Firsd the resohving power of the grating in
the second order

Cabzulate the de-Brealie wave length of newtron
having kimetee energy of | &y,

Given h=6.63 = 10-"Yoube-sec m = | 67 = 1072

Arpemgi any twn ot of three

h__qm._.".
[l

ich

Oibtwin the expresson o the addition of the
relativigtic velocities. Show that C is imariant

Digrive the expression for 1he diameter of the
bright ring of eeder 1 in Mewton's ning expenmen
immersed m a fiquid of refractive index B

Explain Heimsmberg whicertainty principlé. Show

that the electrons can nol resides in an atomes
fiuclea

Aftempd any two out of three

ial
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What is Polarized light? Fiow will vou produce
and detect plane, elliptically and crculatony
poansed hahr?
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Explain the concept of Maxwell's dhaplacement
current and shora how o bead the modificaiion of
Ampere's law.

What are super conductonsT Explan the difference

betwesn tvpe | and tvpe [l supercondwctors using
the Wersner effect

Atempd my two oot of three
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Derive Schrodinger's time dependent equatiaon
What is the physical significance of the funclion
W ised im this eguntion?

What is meamt by hsteresis amd cycle of
magnelisabon. Prove that the area of BH. cycle
dlenones the enengy dissipated per CC for sample
of iron in the form of an anchor ring

Explain the primciph: apd working of He-Ne laser
How s it superior 1o a by laser 7
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